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6 - 1 - Conflict Example -Game Theory-Matthew O. Jackson & Yoav Shoham
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Player 1 comes in two forms: Strong or Weak.
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If both players have complete information than it is easy to analyze. But what if only Player 1 knows his type but Player 2 does not.
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Player 2’s best response depends on prob. P
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[bookmark: _GoBack]WE have a different Equilibrium than that of a complete information game.
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Specify what player 1 does when strong, what player 1 does when weak,
what player 2 does:

Each player is Maximizing expected payoft give
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Player 2: Fight= p(-2)+(1-p)(1) Not= -1
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* Most settings involve incomplete
information:
— Bidding in auctions

— Regulating an industry (e.g., investment banks)
— How should a political candidate campaign?

— What price should a firm charge?

— Incentives...
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